T = = it &F
A 3 AR
T % ¥
T I - R~ WMAMT  REPFEREROBIAANTH  HIN
r 4 RGEN KB TN R B AR R 2 25T
T bt IO AN D aFf 44 2A 28R 5530}
ik k| E M= | R B il | H

WUAMT EFKER




KRV K E A I B A B G 2 2o R

B2
R E T 1 K
J— MREIES 1 K

PUAMH EFAKER




AN

WA L) TR Wi | % & Wi & i
EeS
02: 1 - FAERH A
HOR 0 R
1. 000
%0001 5 BAMIZE
S N
1. 000
G4t (Rt L) .
1. 000
FHE R R
1. 000
e "
1. 000
RIS - SRR -
1. 000
il




BN
WH Ll T AEE Bl & 4 i =
01: AR
AR S
1. 000 _ _
AR A 0002 55 DRI
1. 000
eSS WOTENTS T
1. 000
B
1. 000
Z O I
1. 000
S
1. 000
R
1. 000
AR
1. 000
y




= % I N 3
74 gi TH Hfir T H 4 W
SRS X
1. 000




[ - A at ]

#0001 5 BAMNZR Bl & 1

fii 2

S
%?{.

(B g A TE 4 b))
L

A
&

Mp B HOZ %

Rl (BRI &)
km

RIS 10m SN 20 m #ifRE7 L
0. 020

o
W




BEie Sk

%0002 5 WIRAER KEMERHE 1=
(B g A TE 4 b))
HmpI HR B L ¥ & B f & KA Jif 2
A
¥%
1. 000
N R
e
1. 000
KW Tk o kgt
e
/b= MREE T
1. 000
KEREFAR G
&
1. 000
RATREEEE & O E BHER
¥%S
1. 000
Rtk
¥%S
1. 000
AT
(&G
WE
4. 000
AT
&G
i
2. 000




BEie Sk
Pavin

w0002 B BIME AT

1
(B g A TE 4 b))
B AR B L ¥ B B f & A Jif 2
AIE S 2 B

o
W




REWTIE (SRR ) 5 i T HA
PARERE  10m &M 20 m ##REZe L 1. 000 km eV
% i A B & %8
AlE=53ll]
A
T = EL Rl 4
A
B BT
A
I B e it
A
B A
A
M ) F
A
T 2
%




R (BARE) %0001 & THLEE
HAERR 10m HEM 20 m Eh#ERE e L 1. 000 km E)
£ i) BN ¥ B il 4 A fii C:
Bk
%
i L A B
%
&t
= 1. 000
BAMIY Y km 1. 000 £
ES 7 £ AN ES 14 B
HEAR SR (HLh AR TR HERR R 72 L
T A5 R B R 10m
FR MR £ 1 SRR fE HEMH 20 m
| i




SJ0001 B Hh R A 0001 EEAfhEE
1.000 2% =)
4 i) AL B & B Al 4 A W=
TAEHED
A
HEf ()
A
G
A
& g ES7 S 1. 000
R (VA=) e 1.000{24 v
oA i}




$J0002 AP #0002 5 HUfi#R
1.000 = 49
4 R HLAZ ¥ & B & I
il (A)
A
i (B)
A
e (0
A
=\
A
& &t X 1. 000
HALM 20 1.000{%4 1
oA ifi




P

$J0003 {7 ) 1T A O Rea #0003 SHUME
N— MG 1.000 5% =9
%4 PR HAL % = B A e F S
el &
A
FATELAR
A
Tl (A)
A
el (B)
A
el (C)
N
o oz = 1. 000
HAZY Y X 1. 000|124 ¥
oA if]




SJOOO4 7k%4%§%7'1:?}%§+ ’EI":'.?‘ 0004 %%ﬁﬁi‘%

1.000 i 49
4 PR HLAZ ¥ & B & # I
EAERI
A
Hififi &
A
EAT-Hff
A
il (A)
A
Hfil (B)
N
il (C)
N
=\
N
& oz 1% 1. 000




SJ0004 N Y N 0004 SEUMhE
1.000 #& =)
4 i) AL B & B Al 4 A W=
R (VA=) & 1.000[24 v
SJ0005 BELREERE & D i E BHERK %0005 B HfMhFR
1.000 2% =L
4 giiN AL ¥ & Bl o | o=
Hhm (B)
A
Hehm (C)
A
Hifrg
A
& g ¥ 1. 000
HALY Y ¥ 1.000{24 v
oA i}




SJ0006 XA %0006 EEAMhEE
1.000 2% =)
4 i) AL B & B Al 4 A W=
TAEHED
A
HEf ()
A
G
A
& g ES7 S 1. 000
R (VA=) e 1.000[%4 v
oA i}




